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Read the following passage and answer the questions given below:

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘|
have to reduce myself to the level of the poorest of the poor. That is what | have been trying to do for the last fifty years
or more, and so | claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi
rejected property as something antithetical to spiritual progress, Marx did not reject property as such, he merely rejected
property based on exploitation and because it fosters inequality in society. Second major difference was around the
problem of means. Though the entire tenor of Gandhi was against property, he too acquiesced in the institution, albeit
reluctantly, by conceding one’s right to earn property by lawful means.

Gandhi’s basic objection to property differed from that of Marx because unlike the latter, he saw it as being
the means of exploitation

the cause of social inequality

the hinderance to spiritual growth

earned by unlawful means

C
1



52 Comprehension
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A

Correct Answer
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Read the following passage and answer the questions given below:

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘|
have to reduce myself to the level of the poorest of the poor. That is what | have been trying to do for the last fifty years
or more, and so | claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi
rejected property as something antithetical to spiritual progress, Marx did not reject property as such, he merely rejected
property based on exploitation and because it fosters inequality in society. Second major difference was around the
problem of means. Though the entire tenor of Gandhi was against property, he too acquiesced in the institution, albeit
reluctantly, by conceding one’s right to earn property by lawful means.

Identify the word or phrase from the passage that comes close to “give in to” or “quietly accept”.
albeit reluctantly

fosters

acquiesced

conceding

C
1
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Read the following passage and answer the questions given below:

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘|
have to reduce myself to the level of the poorest of the poor. That is what | have been trying to do for the last fifty years
or more, and so | claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi
rejected property as something antithetical to spiritual progress, Marx did not reject property as such, he merely rejected
property based on exploitation and because it fosters inequality in society. Second major difference was around the
problem of means. Though the entire tenor of Gandhi was against property, he too acquiesced in the institution, albeit
reluctantly, by conceding one’s right to earn property by lawful means.

Property being the means of exploitation and the basis for fostering inequality were the two criteria which defined

perception
objection
obduration

reluctance



54 Comprehension Read the following passage and answer the questions given below:

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘|
have to reduce myself to the level of the poorest of the poor. That is what | have been trying to do for the last fifty years
or more, and so | claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi
rejected property as something antithetical to spiritual progress, Marx did not reject property as such, he merely rejected
property based on exploitation and because it fosters inequality in society. Second major difference was around the
problem of means. Though the entire tenor of Gandhi was against property, he too acquiesced in the institution, albeit
reluctantly, by conceding one’s right to earn property by lawful means.

Question Description Read the following statements and choose their logical cause-effect sequence apparent from the options given below:
i. Subsequently Gandhi acquiesced in the institution, provided it was earned lawfully.

ii. Marx did not reject property per se but as the basis for exploitation and inequality.

i. Gandhi had rejected property as antithetical to spiritual progress.

iv. Gandhi had read Marx and claimed to be a foremost communist.

2 (ii1); (iv); (ib); (1)
= (ii1); (i1); (1); (iv)
© (iid); (i1); (iv); (1)
2 (iv); (iit); (id); (1)
Correct Answer A

Marks 1



55 Comprehension
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Read the following passage and answer the questions given below:

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘|
have to reduce myself to the level of the poorest of the poor. That is what | have been trying to do for the last fifty years
or more, and so | claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi
rejected property as something antithetical to spiritual progress, Marx did not reject property as such, he merely rejected
property based on exploitation and because it fosters inequality in society. Second major difference was around the
problem of means. Though the entire tenor of Gandhi was against property, he too acquiesced in the institution, albeit
reluctantly, by conceding one’s right to earn property by lawful means.

Match the words from the passage with their near synonyms, using the options given below: -

1. foster
2. antithetical
3. concede

4. reluctant

1-(B); 2- (E); 3- (D); 4- (A)

1-(E); 2- (C); 3- (B); 4- (A)

1-(D); 2- (A); 3- (B); 4- (C)

1-(B); 2- (E); 3- (D); 4- (C)

D
1

(A) approach
(B) nurture
(C) hesitant
(D) give in
(E)opposed



56 Question Description Himalayan Mountaineering Institute is at

A Darjeeling
B Dehradun
(] Marmago
D Dispur
Correct Answer A
Marks 1

57 Question Description Where is the Railway Staff College located?
A Pune
B Delhi
c Vadodara
D Allahabad
Correct Answer C

Marks 1



58 Question Description Folk painting ‘MadhuBani’ is famous in which state?

A Punjab
B Uttar Pradesh
c Bihar
D Madhya Pradesh
Correct Answer C
Marks 1
59 Question Description Fathometer is used to measure
A Earthquakes
B Rainfall
c Ocean depth
D Sound intensity
Correct Answer C

Marks 1



60 Question Description The government of which state has recently launched a water ATM policy for urban areas?

A Rajasthan
B Haryana
(@ Gujarat
D Mabharashtra
Correct Answer B
Marks 1
61 Question Description Firdausi was
A a poet
B well known for his epic 'Shahnama'
c Both option A and B
D None of the above
Correct Answer C

Marks 1
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A
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Question Description

A

Correct Answer

Marks

Which planet is known as the Morning Star or the Evening Star?
VENUS

Jupiter

Mars

Saturn

A
1

When the Halley’s Comet will be visible from Earth again?
2061
2051
5041

3071

A
1



64 Question Description For galvanizing iron which of the following metals is used?

A Aluminium
B Copper
c Lead
D Zinc
Correct Answer D
Marks 1

65 Question Description What is the Orbital period of Moon?
A 27 days
B 37 days
c 47 days
D 57 days
Correct Answer A

Marks 1



66 Question Description Statement I: The placements in the college have been increasing for the last three years

Statement II: The college has put in extensive efforts in bringing the industries for college placements

A Statement II is the cause and statement I is its effect
B Statement I is the cause and statement II is its effect
c Both the statements are effects of independent causes
D Both the statements are independent causes
Correct Answer A
Marks 1
67 Question Description Praying is to temple as eating is to
A food
B restaurant
c Fitness
D Hunger
Correct Answer B

Marks 1
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A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

In a certain code, LEAF is written as MDBE. How is TREE written in that code
UQDF
UQFD
GFSD

UDQF

For the series 24, 29, 31, 36, 38, 43, what pair of numbers should come next?

45,52

50, 52

45, 50

46, 50

C
1



70" Comprehension Answer the questions on the basis of the information given below.

Seven varsity basketball players (A, B, C, D, E, F, and G) are to be honoured at a special luncheon. The players will be seated on
the dais in a row. A and G have to leave the luncheon early and so must be seated at the extreme right. B will receive the most
valuable player's trophy and so must be in the centre to facilitate presentation. C and D are bitter rivals and therefore must be seated
as far apart as possible.

Question Description Which of the following cannot be seated at either end?
A C
B D
Cc F
D G
Correct Answer C

Marks 1



71 Comprehension Answer the questions on the basis of the information given below.

Seven varsity basketball players (A, B, C, D, E, F, and G) are to be honoured at a special luncheon. The players will be seated on
the dais in a row. A and G have to leave the luncheon early and so must be seated at the extreme right. B will receive the most
valuable player's trophy and so must be in the centre to facilitate presentation. C and D are bitter rivals and therefore must be seated
as far apart as possible.

Question Description Which of the following pairs cannot be seated together?
A B&D

B C&F

( D&G

D E&A

Correct Answer D

Marks 1



72 Comprehension

Question Description

A

Correct Answer

Marks

73

Answer the questions on the basis of the information given below.

Seven varsity basketball players (A, B, C, D, E, F, and G) are to be honoured at a special luncheon. The players will be seated on
the dais in a row. A and G have to leave the luncheon early and so must be seated at the extreme right. B will receive the most
valuable player's trophy and so must be in the centre to facilitate presentation. C and D are bitter rivals and therefore must be seated
as far apart as possible.

Which of the following pairs cannot occupy the seats on either side of B?
F&D
D&E
E&G

C&F



Comprehension

Question Description

Correct Answer

Marks

Read the following information and the sentence A,B,C,D and E given below it carefully and answer the question which follow:
A host of foreign companies are in talks with the Indian government for selling B150, a tough short-haul plane ideal for
connectivity of smaller towns which is lacking in India at present.

A. BI150 planes have not only low operating costs than competing planes like Cezana but also a much better track record in terms
of safety and efficiency.

B. The profit margin of road transport operators in the smaller towns connected by B150 planes has been reduced substantially as
a majority of people prefer air transport over other means of transport.

C. Smaller towns at present, are better connected by roads and railways as compared to flight services.

D. B150 planes are capable of operating in sectors where large airlines cannot fly due to challenging conditions such as mist short
runways etc. Such planes can also double up as cargo planes and charter flights for the rich and the elite.

E. B150 planes need to operate in the existing airports, which are situated in bigger cities only and are poorly connected to the

smaller cities.

Which of the statements (A),(B),(C),(D)and (E) can be inferred from the facts/information given in the statement ? (An inference is
something, which is not directly stated but can be inferred from the given facts.)

Only A
Only B
Only C
Both B and D

C
1



74 Comprehension Read the following information and the sentence A,B,C,D and E given below it carefully and answer the question which follow:

A host of foreign companies are in talks with the Indian government for selling B150, a tough short-haul plane ideal for

connectivity of smaller towns which is lacking in India at present.

A.

B150 planes have not only low operating costs than competing planes like Cezana but also a much better track record in terms
of safety and efficiency.

The profit margin of road transport operators in the smaller towns connected by B150 planes has been reduced substantially as
a majority of people prefer air transport over other means of transport.

Smaller towns at present, are better connected by roads and railways as compared to flight services.

. B150 planes are capable of operating in sectors where large airlines cannot fly due to challenging conditions such as mist short

runways etc. Such planes can also double up as cargo planes and charter flights for the rich and the elite.
B150 planes need to operate in the existing airports, which are situated in bigger cities only and are poorly connected to the

smaller cities.

Question Description Which of the statements (A),(B),(C),(D)and (E) mentioned above would weaken the offer made by the foreign companies for

selling BO150 planes to Indian government ?

A A
B B
c C



Correct Answer

Marks



75 Comprehension

Question Description

Correct Answer

Marks

Read the following information and the sentence A,B,C,D and E given below it carefully and answer the question which follow:

A host of foreign companies are in talks with the Indian government for selling B150, a tough short-haul plane ideal for

connectivity of smaller towns which is lacking in India at present.

A.

B150 planes have not only low operating costs than competing planes like Cezana but also a much better track record in terms
of safety and efficiency.

The profit margin of road transport operators in the smaller towns connected by B150 planes has been reduced substantially as
a majority of people prefer air transport over other means of transport.

Smaller towns at present, are better connected by roads and railways as compared to flight services.

B150 planes are capable of operating in sectors where large airlines cannot fly due to challenging conditions such as mist short
runways etc. Such planes can also double up as cargo planes and charter flights for the rich and the elite.

B150 planes need to operate in the existing airports, which are situated in bigger cities only and are poorly connected to the

smaller cities.

Which of the statements (A),(B),(C),(D)and (E) mentioned above represents a possible consequence of the success of B150 planes

in smaller cities ?

A

B



